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Question: 1 
   
1/128 is an IPv6 loopback address 
 
A. TRUE 
B. FALSE 
 

Answer: A     
 

Question: 2 
   
[Huawei]command-privilege level 3 view users save 
Refer to the command output. what is the result of the shown command? 
 
A. The command adjusts the save command of a user to privilege level 3. 
B. The command adjusts the save command in the user view to privilege level 3 
C. The command adjusts the user view command privilege level to 3, and saves the configuration 
D. The command adjusts the privilege level of a user to 3, and saves the configuration.  
 

Answer: B 
 

Question: 3 
 
A Company applies for a class C IP address for subnetting. It has six branches and the largest branch 
should have 26 host. What would be an appropriate subnet mask for the largest branch? 
 
A. 255.255.255.0 
B. 255.255.255.128 
C. 255.255.255.192 
D. 255.255.255.224 
 

Answer: D     
 

Question: 4 
   
A DHCP Offer packet can carry only one DNS server address? 
 



A. TRUE 
B. FALSE 
 

Answer: B     
 

Question: 5 
   
A DHCPv6 client send a ( ) packet to a DHCPv6 server to request an IPv6 address and network 
configuration parameters 
 
A. Discover 
B. Solicit 
C. Advertise 
D. Request 
 

Answer: D     
 


